, 25
PR 5’59.%%4/8-%

GIVEN SO°% twarer Ffonr: owm
a  septed  plp< where Mere
s> NS pressvre odrop. ¥ V

é//VD /Q5Lf77€ a?/ /J/'/Jf c/dmr’%: : l g
D / dnj) fé/ g,uA/'(/{ 7,"4'4.— }ZCZ;‘?.‘/-
e el it /, fam i r7an

SOLUTION /jp,oj e mecfanedl .l 2
@h{/b?./ j‘Jd/‘/ }41‘/\4 /0,',17" /
/

73 /&c/n/

2

'~/ 2 = < S »
[_’,m(;// +7J, - U ‘_@2.—’ “/-Z:- * F7a 7‘554-

s

Th< /aro//em :///nen%j,‘/& Y /z 4x</ Wse =0
/45-”-’//"’0f 6017:/1407[ Ha7er Jen.rzzl /%e co”féﬂu’//

z/a/oﬂ 7:1/6; .V V Ze?l J =72 —4, /4S$Ume
j/// Ve/O/ed/ %/'OW So dd Z.O_“ 7-A,J ff(/e_:

jﬁ jAL_; {A__V_‘_=_/_A JLOF _ g IR

2 b wnt  greS

;ﬁt NS MI M /e¢yl‘e/_JJ RO ]n—vr' é/‘ /e%ﬂ:#p/J
,_-Zamma/_‘___}"_)/ﬂ’?_.__(;f__ cbool 9?@?0 S o .

T e CHE i Caiggeo o
Y Ty B |
440/._ o e _ PR ERER B M L e s

yfé‘uaﬁ'm\-f (1) amd (3) s/ve s


PROBLEM 8.25

Q

Re

2100

2100

525


- ', wHit~e
LPROEL F??%E“% -

=h o PALE y/@?{/@wv

eor 4
b 28y
2/

I

Sriace e PP e Vef//'éa-/; y -7

D - 2429 .
7 7

SUAJ%/'/Z//Z/‘/I7 7;/‘ & /;M {5_ (Z)

and

(2)

j 7 yVes

L F Ve

L ; |
___D__s_~//___ _
: (7407 3) . T



PROBLEM 8.25

525





67200

67200

0.00190 m = 1.90 mm



Q




